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An image capturing lens assembly includes, in order from an object side to an image side, a first lens
element, a second lens element, a third lens element and a fourth lens element. The first lens element with
positive refractive power has an object-side surface being convex in a paraxial region and an image-side
surface being convex in a paraxial region. The second lens element with negative refractive power has an
object-side surface being concave in a paraxial region and an image-side surface being convex in a paraxial
region. The third lens element with positive refractive power has an object-side surface being concave in a
paraxial region and an image-side surface being convex in a paraxial region. The fourth lens element with
refractive power has an image-side surface being concave in a paraxial region and having at least one convex
shape in an off-axis region, wherein the surfaces of the fourth lens element are aspheric. The image capturing
lens assembly has four lenses with refractive power. When specific conditions are satisfied, the

characteristics of large field of view and compact size can be obtained.
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An image capturing lens assembly includes, in order from
an object side to an image side, a first lens element, a second lens

element, a third lens element and a fourth lens element. The first

lens element with positive refractive power has an object-side
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surface being convex in a paraxial region and an image-side surface
being convex in a paraxial region. The second lens element with
negative refractive power has an object-side surface being concave in
a paraxial region and an image-side surface being convex in a
paraxial region. The third lens element with positive refractive
power has an object-side surface being concave in a paraxial region
and an image-side surface being convex in a paraxial region. The
fourth lens element with refractive power has an image-side surface
bei‘ng concave in a paraxial region and having at least one convex
shape in an off-axis region, wherein the surfaces of the fourth lens
element are aspheric. The image capturing lens assembly has
four lenses with refractive power. When specific conditions are
satisfied, the characteristics of large field of view and

compact size can be obtained.
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14777805

102 9 A58k E#iaR

fHlRE 241 SEXHERDE > HEARE 2420 68HE R
ME > TERBFERED - BEGARE 242 BE@HERE R — 1N
& o

[0059) AL A RTERRIELH 260 B EHE HRXENE N
ZEH 240 REEE S0MABRAEERZREINRMEHEB
B -

[0060] HESZRBTIER=ZLUREN -

K= B _E P

f(EEEE) = 1.34 mm, Fno(Y:FE{E) = 2.05, HFOV(4EH) = 44.0 &

FRIH HRPRK BE | 8 | TR | GERE| IR
0 BEY THE R

1 KE TH -0.023

2 HmEE | 1.255 ASP 0389 | #BR 1.544 55.9 1.23
3 -1.267 ASP 0.146

4 HIESE | -0.538 ASP 0200 | ¥R 1.634 23.8 -1.60
5 -1.310 ASP 0.030

6 =S | -1.006 ASP 0298 | ¥R 1.544 55.9 2.15
7 -0.598 ASP 0.030

8 FEIOES | 0.443 ASP 0230 | BB 1.544 55.9 39.69
9 0.370 ASP 0.450

EAI NN -

10 g THE 0210 | HHEE 1.517 64.2

11 FE 0.154

12 I %E Y] THE -

ZE W R (d-line)£ 587.6 nm

=~ FERERE

FHE 2 3 4 5
= -4.8012E+00 -3.8287E+00 -1.4000E+01 -3.5258E+01
Ad= -3.6558E-01 -2.2332E+00 -1.2139E+01 1.0709E+00
A6 = 1.6749E+00 -2.8987E-01 9.6633E+01 -3.6763E+01
A8= -3.5650E+01 -4.8797E+00 -4.5885E+02 3.0659E+02
Al0= -5.4542E+01 1.6741E+01 1.1020E+03 -1.2813E+03
Al2= 3.8744E+02 2.6579E+03
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102 #9 A5 a5 E#44E

Al4 = -4.4731E+03 -2.1736E+03
*H 6 7 8 9

k= 1.1427E+00 -5.3115E+00 -5.9834E+00 -3.5092E+00
A4 = 8.6111E+00 -3.3577E+00 8.3109E-01 -1.0644E-01
A6 = -7.8934E+01 4.9258E+01 -6.8500E+00 -1.8344E+00
A8 = 4.7656E+02 -3.6088E+02 1.6218E+01 4.9724E+00
Al0= -1.8778E+03 1.5696E+03 -1.9221E+01 -6.7685E+00
Al2 = 4.6987E+03 -4.0046E+03 1.2418E+01 5.4385E+00
Al4 = -7.0640E+03 5.5260E+03 -4.1489E+00 -2.4507E+00
Al6= 4.9110E+03 -3.1629E+03 5.5767E-01 4.7107E-01

(0061] B+ FRENHRARKIRRME— B

AT - s TRBRWELEHEE —FHEMERE -
® iirmpmm- |

(0062) B2 & 3 = R & U8 AT ##t 51 4 F 5 Bog

B8 mel
f (mm) 1.34 f/f4 0.03
Fno 2.05 (R1+R2)/(R1-R2) 0.00
HFOV () 44.0 SD41/SD32 1.49
T12/(T23+T34) 2.43 FOV (&) 88.0
R2/R3 2.35 TL/Tan(HFOV) (mm) 2.21
R4/R3 2.43 (ISag100-Sag80/+/Sag80-Sag60[)/CT4 0.05
£2/f3 -0.74
<E=F RG>

[0063] S22 WE SERFE 6B >  HfE SERETEKBEARASR
HEZBRIN —BZGENRREHFEANREER % 6
BHAZERFEEZEHEINNEZEENAME H HA XK
= GQHEREHGRE - -#BHE SETHN BHEANRRE
FHABYHEZEAKFEIEE 300 38 —3F &K 310 5 =
FEEE 320 BE=EEE 330 FEUFEH 340 - A BMIBEERIEL
Fr360 g 350 A RE TR TTH 370 HFZEEN
AMEFEPEERFINEERNE -
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- .

102 £9 A58 EHitR

[0064) % —Z#E3I0EBEEREINT N EBEBHME HEY
Bl 311 EXWMERSTH  HEAERETE 312 A ALHES
hE c EBIEKRE -

[0065] 25 —ZEE 320 EFEAREIT N EREBME  HY
BlEHE 321 EXHESME - HGEAKRE 322 AXEHERS
hiE > MEBIERE -

[0066) BE=FEHE B0 EFERIT T EEREBME  HY
BlcmE 331 EXHMEBSME > HEHERE 332 5 XHER
i c WMEBIERE -

[0067) FENEHE 40 EFTEAREN . ERBBME  HY
BlRm 341 AEEHE RO E - EEREIKRE 34250 C6HER
MiE LHESHEEE > BEGAERT 342 BEEHEREHF — N
@ °

[0068) 4T 4 4 VEBRIE L A 360 BB B HERXE N E
FEEMORKEE SOMEBANEEERENAKERFEAD
£ -

[0069] BECES 2B TIIRALLKERAN -

$

xXh - -E=FKH

f(EEEE) = 1.36 mm, Fno(SLEE(E) = 2.05, HFOV(4IRA) =44.0 FE

RH R4 BEE HE | TR | aidR#| £
0 BEY TH R
1 KE THE -0.015
2 B | 1461 ASP 0.389 R 1.544 55.9 1.17
3 -1.028 ASP 0.162
4 EEE | -0.465 ASP 0.200 o]z 1.634 23.8 -1.87
5 -0.892 ASP 0.030
6 HEE | -1.006 ASP 0.327 E2)i2d 1.544 55.9 2.06
7 -0.591 ASP 0.030
8 EUUESE | 0482 ASP 0.220 iz 1.544 55.9 9.58
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102 #9 A 5 8B E#44q

9 0370 | ASP 0.350
10 %iﬁ T 0210 | 3HE 1.517 64.2 ;
11 i 0.268
12 FAZRE TH -
222 (d-line) S 587.6 nm
FN - FEHERHK
S]] 2 3 4 5
= -5.6662E+00 -5.0331E+00 -1.2165E+01 -2.1728E+01
A4 = -6.6618E-01 -1.9616E+00 _1.2488E+01 7.4357E-01
A6 = 5.4429E+00 -1.8412E+00 1.4117E+02 -1.8092E+01
A8 = -8.9886E+01 1.3897E+01 -1.0931E+03 1.3700E+02
® Al0= 1.9732E+02 -1.2404E+02 5.1469E+03 -5.6960E+02
Al2= 4.7961E+02 -1.2079E+04 1.1588E+03
Al4= 1.0844E+04 -8.4383E+02
EH| 6 7 8 9
k= 9.8523E-01 -4.8872E+00 _5.2498E+00 -3.1783E+00
A4 = 7.1104E+00 -2.4021E+00 2.5747E-01 -4.9170E-01
A6 = -5.9925E+01 2.6215E+01 -4.5027E+00 -3.6422E-01
A8 = 3.3556E+02 -1.6375E+02 1.1399E+01 1.9699E+00
Al0 = -1.2327E+03 6.0819E+02 -1.3277E+01 -3.0615E+00
Al2= 2.8809E+03 _1.2467E+03 7.7493E+00 2.5809E+00
Al4= -3.9373E+03 1.3349E+03 -1.9428E+00 -1.1949E+00
Al6= 2.4258E+03 -5.9596E+02 7.6332E-02 2.3454E-01
[0070] E=Z=EHA G IFEKEWHEAEAXAEZTRUE —F
HEHRER -4 TERZHVOEEETHE —BEHEGEE
FEA ML E M -
[0071) BEEERARRAAUHEEL TIIEHE
. E=EKH
f (mm) 1.36 f/£4 0.14
- Fno 2.05 (R1+R2)/(R1-R2) 0.17
HFOV () 44.0 SD41/SD32 1.44
T12/(T23+T34) 2.70 FOV (&) 88.0
R2/R3 2.21 TL/Tan(HFOV) (mm) 2.26
R4/R3 1.92 (ISag100-Sag80|+/Sag80-Sag60[)/CT4 0.06
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102 9 A5 a5 L4 R

2/3 -0.91

<E M E B>
[002) F2RE TBERESH HbE TEHERKELASR
HEMNEEAN —BEEZEGRANAKSEAFEANRER - 8
BHAZEGAGRSESSMHE KGN E GRS A E0 5
= BGEkREHMHSE  cBE T ETHN ERENZAKSE
FEBEYREGAKFELSEE 400 £ —5EF 8 410 5 =
B 420 BEEEHE 430 HUUEHE 440 - 55 55 VR R I8 L
@ 5460 - HETMASOURETRATH 470> Eh & W

AMERAFETEETIONERER M -
(0073 5 —ZEHE4I0BEFEREFT N ERERBME HY

Bl=m 411l ANXBEREH > HEARE 412 OLHER
i LERIERE -
[0074] HE—ZE#H 420 B EEAEM N AR EBME  HY
BlRE 421 At EHE R ME - HEGAIRE 422 DXEHER
MiE > WE /I ERE -

@ [0073] H=FEHVBOAFTERENT LEREBME HY
BlsRE 431 A X BHE B ME > HEAIRE 432 D XHER
thiEl v W ESIFERE -

[0076] HEMNZEH 440 BEFEEN N BREBNHNE  HEY
BIRiE 441 SEXEHE R HE > HEAIRE 442 OXEHE B
ME > EERIERET > HEGAEKE 442 B@EREFE — O
& o

[0077] ALAM#RVERRIENXF 460 BB EME  HXEBENE W
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EHE 440 R B mE 450 i H A

=
=7

102 .9 B 5 B E4E

= B E RS & ER

B -
[0078)] BEESEZBTIHEELUREN -
) xt - EHE Y
fUERER) = 1.34 mm, FnoCGYE{E) = 2.05, HFOV(4RH) = 44.0 &
. KM R PR BE | M8 | ITHER |GRRE| £
0 Y TE R
. 1 KA TH -0.023
2 E—EE 1.224 ASP 0.361 p22)i2d 1.544 55.9 1.25
3 -1.380 ASP 0.143
4 EEE -0.586 ASP 0.200 (i3 1.634 23.8 -2.25
‘ 5 -1.127 ASP 0.030
6 B=FEE -0.795 ASP 0.316 (i 1.544 55.9 1.86
7 -0.508 ASP 0.030
8 EIUEE 0.470 ASP 0.220 123 1.544 55.9 -5.51
9 0.340 ASP 0.420
' 10 ggi‘ﬁ syl 0.210 254721 1.517 64.2 -
11 N 0.181
12 FRAGTH ISE .
S E(d-line) & 587.6 nm
=/\ - FEFRBERE
=E 2 3 4 5
. . = -4.8012E+00 -3.8287E+00 -1.4000E+01 -3.5258E+01
A4 = -1.8084E-01 -2.2176E+00 -9.7639E+00 1.4881E+00
A6 = -2.8518E+00 1.4170E+00 6.8234E+01 -2.3945E+01
A8 = 6.9528E+00 -3.9623E+01 -3.2572E+02 1.4274E+02
Al0= -2.3348E+02 1.1830E+02 5.2162E+02 -5.1568E+02
- Al2 = 3.1954E+03 9. 8487E+02
Al4 = -1.0100E+04 -7.2049E+02
. B 6 7 8 9
= 7.9099E-02 -5.3114E+00 -5.9834E+00 -3.5093E+00
Ad= 9.1724E+00 -3.6891E+00 2.0090E-01 -3.9392E-01
A6 = -7.4553E+01 4.1706E+01 -3.8589E+00 -6.3704E-01
A8 = 4.0305E+02 -2.7647E+02 7.3912E+00 2.4491E+00
Al0= -1.4251E+03 1.1351E+03 -1.8084E+00 -3.7243E+00

2]
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102 49 A 5B EHER

Al2= 3.1957E+03 -2.6238E+03 -8.1416E+00 3.3973E+00
Al4 = -4.1620E+03 3.1777E+03 8.6658E+00 -1.7825E+00
Al6 = 2.3383E+03 -1.5967E+03 -2.6705E+00 3.9677E-01

[0079) ZEMERBEI+  FRENHBRGTEXNRTUOE —
EIRER - Lo TRBHERWEREEE —EFROIBEH -
7 b A~ 0 DA% A -

[0080)] FeE&RERER/N\AHEEL T HE

24 E e Pl
f (mm) 1.34 f/f4 -0.24
Fno 2.05 (R1+R2)/(R1-R2) -0.06
. HFOV (&) 44.0 SD41/SD32 1.48
T12/(T23+T34) 2.38 FOV (%) 88.0
R2/R3 2.35 TL/Tan(HFOV) (mm) 2.19
R4/R3 1.92 (ISag100-Sag80/+Sag80-Sag60|)/CT4 0.02
£2/f3 -1.21
<EARAE Y >
[0081] MR EE 9B KE 10  HA S 9 HEgRKEA

B ERAN —BYERNARES RN TEE B
10 @ A B 5K S T M 0 60 B 18 48 IR G 4 4 0
R GRETHGERE 5% 9 BUM 0 BEBNEGK
@ R EmMMEEEAIKTOANE 00 E—EE 510 %
— B 520 BIEH 530 HIEEH 540 MABERE
S B 560~ IR 50 M BB TR BITHE 570 Hh &%
WA ER MBS
[0082] % —E# SOREEERF N ABHBHE 59
BI%RE S ERMESOE  SEMEE 512 FXMES
S WS R -
(0083) =8 20 EEARFN AREEHE £

22




14777805

102 9 A5 B4 E44E

BIRmE S21 Ak EhEE B M E » HEHKRE S22 AXtHES

hiE > WESBIEKRE -

[0084) B =FEH SOEBLRTN EBEBHE £

BIER®E S31AXXHESME » HEHRME 532 TXHES

il > WERBIEKRE -

[0085) B NEHE SO0 EFEREIT T EBEEBHME HY

HIERMmE S41 b HHE R E » HEBRAIRE S42 0 XLHER

ME > TEBH KT HEGHEIRET 542 BEHERE A —
® .

[0086) AL/ #RIEERIENEF S60 B EME HEEBENRE T

FEE 540 kB HE SSORIBEARAEZEEZGBNAERERED

y= IS

[0087) BEAZBETFIHEAUREF -

=ML FBAREHRH
fEERE) = 1.33 mm, Fno(3EE{E) = 2.25, HFOV(AETRA) = 43.5
E31] HESR4fR EE | 8 | ITeE | GEURE | £
0 WEY T R
] K TH -0.006
. ‘ 2 B—EEE 1.626 ASP 0.338 eI 1.542 62.9 1.19
3 -0.998 ASP 0.185
4 EOEEE | -0.514 ASP 0.200 R 1.634 23.8 -2.32
5 -0.910 ASP 0.030
6 HE=3FEEE | -0.806 ASP 0.334 prz)izd 1.544 55.9 1.32
7 -0.436 ASP 0.030
8 BUIUESE 0.577 ASP 0.210 preliz S 1.544 559 -2.22
9 0.340 ASP 0.420
10 ggiﬁ T 0210 | s | 1517 | 62
11 ~E 0.177
12 XA T -
ZZER(d-line)£ 587.6 nm
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102 #9585 EH4#A

=+ - FERBERE
XE 2 3 4 5
= -7.1184E+00 -3.9906E+00 -1.1354E+01 -2.6040E+01
A4 = -7.4737E-01 -2.3852E+00 -9.4453E+00 1.8850E+00
A6 = -2.4987E-01 3.6883E+00 7.1538E+01 -3.9635E+01
A8 = -5.9860E+01 -4.0817E+01 -2.1755E+02 3.2246E+02
Al0= 3.6155E+01 7.6774E+01 -7.9003E+02 -1.3713E+03
Al2= 8.3322E+03 2.9114E+03
* Al4 = -1.7507E+04 -2.4459E+03
X 6 7 8 9
k= 1.3419E-01 -5.3272E+00 -4.6648E+00 -3.6411E+00
' A4 = 8.9418E+00 -2.4420E+00 -2.9494E-01 -3.6458E-01
‘ A6 = -8.3021E+01 1.8778E+01 -1.7262E+00 -6.4441E-01
A8 = 4.9341E+02 -6.7652E+01 3.0695E+00 2.3928E+00
Al0= -1.8318E+03 2.3821E-01 1.3410E+00 -3.5202E+00
Al2= 4.1780E+03 8.0443E+02 -7.0441E+00 2.8294E+00
Al4 = -5.2572E+03 -2.0512E+03 6.2124E+00 -1.2041E+00
Al6 = 2.6696E+03 1.5428E+03 -1.8336E+00 2.1090E-01
[0088)] SEAEMAI G KBRS EXERUWE—F
HEHBMER- L4 TEZ2EVEEZETHEHE—EHROEIMEE
£ A o B e -
[0089) BEEFENARKRETOUHEL TIEE :
) =K
: £ (mm) 1.33 f/£4 -0.60
Fno 2.25 (R1+R2)/(R1-R2) 0.24
HFOV (E) 43.5 SD41/SD32 1.46
T12/(T23+T34) 3.08 FOV () 87.0
. R2/R3 1.94 TL/Tan(HFOV) (mm) 2.25
R4/R3 1.77 (ISag100-Sag80[+Sag80-Sag60|)/CT4 0.06
) f2/f3 -1.76
<ENE >
[0090] FFZ=2WE 1l B RKEFE 12 » Hh 5B 11 B & R ik B8
ABHEANERINV —RBEEERNEATERFEOTEER >
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102 9 B 5 8BE44aE

2 NEBHAEERFEEAEROINEGRNAKELE
MERkZE - BHERTHEAE  HFE NNBTY  ZERAENS
G EEYAEEAIKRFEL S B 600 B —iFEH 610 -
BTEEE 620 E=F8 630 FEIHESE 640 AL BER
W 660 R IEHE 650 LR EFRAEITH 670 Hh iz
BN ABERHPEEFINEESES -
[0091] % —EW6I0EBFEREN N LEUEBHE &Y
fIRTE 611 SEXBESME  HEHEXE 612 EXEES
@ E ouEsEHE-
[002] B —EH 620 A E AR N EBUBME £
fIRE 621 SEXBMESME > HEAXE 622 FXHES
M WE S ERE -
[0093] %5 =E 630 EHFERIT I EEUBHE &Y
BIRE 631 FXEBMBESME  HGAXE 632 5XHES
ME BESERE -
[0094) HEH 40 A HARF N LEEBHE  £Y
@ HEE6MI EXBMESNE  HGAEE 642 FXEES
ME > G SERE - REGAIKE 642 BMEEE — O
Eo
[0095) AT 4 &0 18 I 8 56 i 660 5 3% 7 41 BT » 20 2 1 54 25 19
EH 640 RAEE SORMETREEEBRIENAKEL AW
£ HE -
[0096) BER&SBTIHE+—LUEE+Z -

KX+ — - BRNEKP

fIEEEE) = 1.34 mm, Fno(G¥EB(#) = 2.45. HFOV(LEA) =43.5 &
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102 9 B 58 EH4R

RH PR BE | ME | X (@GBS £
0 #wEY TE &R
1 FKE FHE -0.008
2 E—BE | 1.465 ASP 0315 | BB 1.544 55.9 1.19
3 -1.079 ASP 0.177
4 HEE | -0.559 ASP 0.130 | ¥R 1.634 23.8 -1.90
5 -1.137 ASP 0.033
. 6 E=EEE | -0972 ASP 0.380 | R 1.544 55.9 1.17
7 -0.437 ASP 0.032
- 8 EUUES | 0.623 ASP 0.227 2 1.535 55.7 -1.84
9 0.333 ASP 0.420
10 g%ﬁﬁ IE 0210 | ¥35 1.517 64.2
' 11 S 0.134
12 BARE 1H -
L2277 5 (d-line) 587.6 nm
X+~ FEREREK
FE 2 3 4 5
= 7.9108E+00 -4.6670E+00 -1.1616E+01 -1.2229E+01
Ad = -1.2651E+00 -2.5911E+00 -9.5775E+00 1.9451E+00
A6 = -3.6542E+00 1.5630E+00 6.8649E+01 -3.8588E+01
A8 = -4.4135E+01 -3.2291E+01 -1.8659E+02 3.2246E+02
Al0= -7.9372E+01 4.5918E+01 -8.5143E+02 -1.3688E+03
Al2= 8.3322E+03 2.9114E+03
Al4 = -1.7507E+04 -2.4459E+03
. @ = 6 7 3 9
k= 5.0888E-01 -5.3272E+00 -4.6648E+00 -3.6411E+00
Ad= 7.1970E+00 -2.5843E+00 -1.1771E+00 -8.2441E-01
A6= -6.5905E+01 1.6305E+01 1.3164E-01 2.7481E-01
A8 = 3.3867E+02 -4.2343E+01 -6.4204E-01 2.1776E+00
Al0= -9.0411E+02 -1.3428E+02 7.3450E+00 -6.3554E+00
Al2= 1.2250E+03 1.1282E+03 -1.2987E+01 8.1342E+00
Al4= -5.9730E+02 -2.0464E+03 9.9727E+00 -5.1660E+00
Al6= -1.8033E+02 9.2343E+02 -3.0573E+00 1.3024E+00
[(0097)] EAERAIS FKEHWHEFEXARXTIUWE—F

HEREN - W4 TR2ENERTEE-FHOIEE -
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102 9 A 5B EHKER

£ L A 0 LA G -
(0098 BEE &R+ —RET+_AHELT I HE

BN E Gl

f (mm) 1.34 f/f4 -0.73
Fno 2.45 (R1+R2)/(R1-R2) 0.15
HFOV (&) 43.5 SD41/SD32 _ 1.31
T12/(T23+T34) 2.72 FOV () 87.0
R2/R3 1.93 TL/Tan(HFOV) (mm) 2.17
R4/R3 2.03 (|Sag100-Sag80]+Sag80-Sag60])/CT4 0.39

2/13 -1.62

<ELEHH >

(0099] 2 M2 1I3E K 148 - Hf%E 13 BiERKE
ABZBPFLERIN—BELEGENAMEAAENIREE -
EMEHAZEARKFREECERINEGENAREFME
MEHE - GRRTHERE - 55 BETS PERANA
MERFEBYAEGAKRFREIOCE 700 FE—FH 710 -
BESE 720 B=FEHK 730 BHESE 740 - FLHRREER
WX R 760 BB HE 750 LREFRBTH 770 Hf &
ERAMEAFEATEBERFIOINERERRTSE -

[0100] 2 —ZEH 70 EBFEREHN N HREBME  HY
fBi2mE 711 EtE#MEROE > EGARKE 712 TXHER
iE > I RIERE -

[0101] 5 _Z & 20 EFEEER N HEREBME HY
fiRmE 721 Bt ERME > EGAxRE 722 AX#HER
i > EERIERE -

[0102] E=ZF&HE 0EEFEEHNN BEREBME  HY
fim 731 t#MERME > EGAHKE 732 ACHER

IJl

27
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102 49 B 5B EHRE

iE  WERIEEKE -

[0103] EMZEHK 740 EBFEREITH HREBHME HY
HlRE 741 AXHERCE  HEAXKE 742 AXHEHER
ME - TERFRE BEHEARE 742 BE#HERE R — O
H -

[0104) H 4L #RIERRTECH 760 B EHM E ERXEBENE DN
ZH 40 KRB E TSOMAETEEELGENAMEHER

$£ 55 -
[0105] BERASBFIHET=URETH-

X+=- - B LEEHH

f(EERE) = 1.44 mm, Fno(GLEE) = 2.50, HFOV(ZETREA) = 41.5

RH HhERA4 EE ME | TR | aBURE | £iE
0 HEY ZH IR

1 e FH -0.008

2 H—iEsE | 1.589 | ASP | 0.332 poilizd 1.544 55.9 1.31
3 -1.204 | ASP | 0.233

4 E_FEE | -0.536 | ASP 0.190 pre)izd 1.650 21.4 -1.87
5 -1.093 | ASP | 0.043

6 E=EE | -0977 | ASP | 0.321 o]z 1.530 55.8 3.18
7 -0.689 | ASP | 0.030

8 HUUESE | 0453 | ASP | 0.270 ]2 1.530 55.8 9.52
9 0.395 | ASP | 0.450

10 g%ﬁﬁ T 0210 | @ | 1517 | 642

11 b 0.159

12 el T -
S22 E(d-line)& 587.6 nm

F+ME - FFERBEREK

XM 2 3 4 5

= -4.8012E+00 -3.8287E+00 -1.3885E+01 -3.5258E+01
Ad= -6.3725E-01 -1.8807E+00 -1.0569E+01 9.2419E-01
A6 = -3.4609E+00 -1.9947E+00 8.3513E+01 -5.0852E+01
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102 £#9 A 585 E4A

A8 = -5.8536E+00 1.1359E+01 -3.7281E+02 4.8186E+02
AlQ = -1.3792E+02 -6.7795E+01 1.0263E+03 -2.0872E+03
Al2= -9.1648E+02 4 .4407E+03
Al4 = -1.4432E+03 -3.7709E+03
FHE 6 7 8 9
k= 8.7856E-01 -4 9582E+00 -5.9336E+00 -3.3034E+00
A4 = 9.3870E+00 -2.4440E+00 6.4449E-01 -3.9287E-01
A6 = -1.0535E+02 3.5419E+01 -6.0080E+00 -3.3902E-01
A8 = 7.2949E+02 -2.5540E+02 1.6280E+01 1.4917E+00
AlQ0 = -3.1369E+03 1.0244E+03 -2.3176E+01 -1.9312E+00
i Al2 = 8.3651E+03 -2.2740E+03 1.8652E+01 1.2192E+00
Al4 = -1.2798E+04 2.6260E+03 -7.9973E+00 -3.8625E-01
Al6= 8.5517E+03 -1.2295E+03 1.4198E+00 5.0911E-02
@ [006)] BLEBH T IREHHGEHFERE NS — &

ORI - 4k TRB2HEUUEEREEE —HEHER -
FE BB A 0 LU At e

[0107] KA ER+=RE+HTHEL T I HEE -

B E mA
f (mm) 1.44 /£4 0.15
Fno 2.50 (R1+R2)/(R1-R2) 0.14
HFOV () 415 SD41/SD32 1.47
T12/(T23+T34) 3.19 FOV (&) 83.0
R2/R3 2.25 TL/Tan(HFOV) (mm) 2.53
R4/R3 2.04 (Sag100-Sag80[+/Sag80-Sag60)/CT4 |  0.07
. @ /63 -0.59
<E NE >

[0108] FH2HWEE ISE RS 16 » X5 15 BETEKR
. AEZERBENERINV -—BE2GENAREFEANTER -
FIEBBHAZEAERFEFNERINZEENRAREHE
HERZE - GokEddiRE - BAE ISETH > EHEEIR
MEFAEDHEGAKFESSE —FEH 810 X HE 800
BFEH 820 EE=3E K 830 FEIUFER 840 LA RIER
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102 #9588 E4KE

WL H 860 RIRTE 8S0 IR EF M T4 870 Hh g g
BN ARESETERBIFINEES A -
[0109) %5 —ZEESIOEEERIT N BEEEBME &Y
fFE 811 AHEMESEH  HEHAERE 8125 LHES
ME I EBIERE
[0110)] HE_FEHW 0 EEAEF N ERSEBME HY
fIRE 821 ENWESME - HGARE 822 FLHES
T L EBIERE
@ [(011) E=F@NEETEFH EBSEBHE £Y
fIFE 831 ENEMESME » HEARE 832 FLHES
M L ESIERE -
[0112) HWEHE SI0EFEREFTH EBREBME &Y
fIZE 841 SEXBESEH  HGHAXRE 842 FLHES
ME LESERE > BEGEIRE 842 BrEBEEHR — N
@ o
[0113) A BEBRIENL S 860 BHBEME ERENE I
@ FEH SO ERRAEESSIMAFVEFZRENAMRBER AW
£ -
(0114) BRAZBTIHETHEURE+TA -

X+hH - BNEEP
f(EEF5) = 1.51 mm, Fno(GEER(E) = 2.35. HFOV(4 TR ) = 40.2 &
RIE s BEE | M8 |iHE aBRH| £E
0 Y H R
1 |[E—&® | 1031 | AsP | 0258 | #E | 1544 | 559 1.65
2 -6300 | Asp | -0.014
3 HE iE 0.215
4 |m=@®| 1012 Asp | o200 | #E | 1633 | 234 | 249
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102 49 A58 EX#KE

5 -3.587 ASP 0.053
6 E=FEE | -1.541 ASP 0.381 HRR 1.544 55.9 0.98
7 -0.432 ASP 0.040
8 EIYEE 0.777 ASP 0.210 25 1.535 55.7 -1.44
9 0.350 ASP 0.500
ALY e
10 By R 0.175 T 1.517 64.2
11 ~HE 0.184
o 12 | gEmE ZE -
223K (d-line)£ 587.6 nm
x+ N - FEEREFRE
FHE 1 2 4 5
' = 2.8929E+00 -2.7069E+01 -1.0947E+01 -8.9977E+01
A4 = -3.9221E-01 -5.9912E-01 -3.3267E+00 -5.2574E-01
A6 = -1.4526E+01 -3.2788E+01 2.8544E+01 1.2705E+01
A8 = 2.4728E+02 9.7816E+02 -6.0808E+02 -1.6620E+02
Al0= -2.9800E+03 -1.7928E+04 6.4802E+03 8.5965E+02
Al2= 1.8477E+04 1.8115E+05 -3.2936E+04 -2.0240E+03
Al4 = -6.1904E+04 -9.5446E+05 8.1689E+04 2.2393E+03
Al6= 8.4366E+04 2.0654E+06 -7.9096E+04 -9.4231E+02
FH 6 7 8 9
k= -1.0000E+00 -5.4451E+00 -5.7367E+00 -4.0193E+00
Ad = 1.9223E+00 -2.5244E+00 -1.0643E+00 -7.4004E-01
A6 = 2.5959E+00 1.7396E+01 9.7946E-01 8.6395E-01
A8 = -7.7974E+01 -7.6435E+01 1.0195E+00 -5.5405E-01
. AlQ= 4.1674E+02 2.9758E+02 -2.7740E+00 -9.1522E-02
- Al2= -1.0391E+03 -6.8425E+02 2.4741E+00 3.6266E-01
Al4= 1.2278E+03 7.6459E+02 -1.0618E+00 -1.9242E-01
Al6 = -5.4994E+02 -3.2256E+02 1.6900E-01 3.2555E-02
[0115) SENERGI T FEREHHBEAEXRTTRUE —

BHBEX -4 TRZBHHNERETFLEE
) £ L A o LA % At -

[0116] EE &R+ A RER +NAHEL T I BUE

— & 5t B 1 [

% /\E i Bl

f (mm)

1.51

f/f4

-1.05

2.35 (R1+R2)/(R1-R2)

-0.72

31




14777805

(

102 9 A58 EHRRA

HFOV (%) 40.2 SD41/SD32 1.37
T12/(T23+T34) 2.16 FOV () 80.4
R2/R3 5.87 TL/Tan(HFOV) (mm) 2.61
R4/R3 3.35 (ISag100-Sag80|+/Sag80-Sag60[)/CT4 0.04
£2/f3 2.54
<ENE B>

(0117] SH2EE 17 BERE 18H » EHE 17 B & T KE
ABEENERON— B RRNARE A AN TEE -
B BEHAEEEKFESEAERAN L GIEIRSKE @
MERE  GHETHMRE - HE 17T ETA B&ENEA
65 P 4 VB B R B AR S St B 900 - B —3E 8 910 -
R 920~ SEED 901 - FE=3FEE 930 FEHFEEE 940 -
AR E RIS 960 - KIRE 950 LLRE T RE T4
070 Hp B ERMAGEL AT EREF HWBEHS MK -
(0118 % — B8 o0 AEEEH N ABEBHE £
BT Ol EXMBESNE > EEARE 912 5k HES
ME S IERE

(0119 £ -FEH 20 EEERFN ABEBEHE £y
BT 921 FHRMBEBME » LEERE 922 K HES
CE S IR -

(0120) E=FEHJONEEERF N EEEBHE &Y
BT 931 FHRMBSME LEERE 932 5 X HHES
ME WS I ERE -

[(0121] EMEZMOEFEERN EBEBHE  £9
BIEE 941 EXMESOE  LEARE 042 35 K HiE S
ME BESIERE HEGEIERT 942 BEEEE O
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| -

102 9 A 5B EH4#R

[0122] AT A MRIERRTELH 960 B HEM E HERENE DN
EHE O RKGHEH ISOMETEEEZEBNAME AR

B -

[0123]

BEeZ2ETIE+EURER+T /N -

X+t - FENEHEH

f(ERE) = 1.20 mm, Fno(G¥EBIHE) = 2.25, HFOV(ATEA) =475 &

R HhR A4 BE | ME | ieX | aBURE | £
0 BEY TH PR
1 S @ 0.004
‘ 2 H—EE | 1.606 ASP 0358 | ZERE | 1.544 55.9 0.97
3 -0.725 ASP 0.137
4 WS | -0.357 ASP 0.180 | ZZE | 1.634 23.8 -1.83
5 -0.616 ASP | -0.104
6 HE& FH 0.134
7 H|=3EE | -0.876 ASP 0357 | ¥R | 1.544 55.9 1.64
8 -0.506 ASP 0.030
9 HIESE | 0.615 ASP 0210 | ¥ | 1535 55.7 -4.60
10 0.434 ASP 0.350
1 ggif T 0300 | ¥E®EE | 1.517 64.2
12 T 0.156
13 FASTE H -
_ ‘ ZFE i F(d-line)£ 587.6 nm
’ FASEHE 6 L2 YRA(Stop)RIFLE R/ —4F 0.520 mm
Fz+/\ - FERERE
EHE 2 3 4 5
= 1.2152E+01 -8.8273E-01 -7.5616E+00 -2.2100E+01
Ad= -1.3867E+00 -1.4258E+00 -1.4148E+01 2.7029E+00
A6= -1.0073E+01 -5.6713E+01 1.3497E+02 -6.6878E+01
A8 = 8.6430E+02 1.5420E+03 -7.1227E+02 7.0315E+02
Al0= -4.1434E+04 -2.4876E+04 5.6313E+01 -4.1935E+03
Al2= 8.5751E+05 2.2815E+05 2.9845E+04 1.4667E+04
Ald= -8.4923E+06 -1.1138E+06 -2.0899E+05 -2.9180E+04
Al6=  3.1981E+07 2.2011E+06 5.0540E+05 2.5851E+04
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102 #9 A 5 8 E444R

M 7 8 9 10

k= 4.4911E-01 -5.3265E+00 -4.6601E+00 -3.6412E+00
A4 = 1.2485E+01 -1.7883E+00 1.4414E+00 9.5544E-01
A6 = -1.5601E+02 2.0734E+01 -1.0882E+01 -7.2427E+00
A8 = 1.2579E+03 -1.6453E+02 2.8570E+01 1.9492E+01
Al0= -6.4257E+03 7.4046E+02 -4.1616E+01 -2.9940E+01
Al2 = 2.0289E+04 -1.6917E+03 3.6687E+01 2.7095E+01
Al4 = -3.6163E+04 1.8274E+03 -1.8787E+01 -1.3388E+01
Al6 = 2.7608E+04 -6.9867E+02 4.3316E+00 2.7663E+00

‘ [0124] ZEAEHOIF  FEREOMBRITEARTUOE —F
BHEER -4 TRSENEREELE —BHREMER

72 It A~ 0 BUE at -
[0125] BEEeX+ERE+/N\ATHELTIEE

2 NE Al

f (mm) 1.20 f/£4 -0.26
Fno 2.25 (R1+R2)/(R1-R2) 0.38
HFOV (%) 47.5 SD41/SD32 1.48
T12/(T23+T34) 2.28 FOV (%) 95.0
R2/R3 2.03 TL/Tan(HFOV) (mm) 1.93
R4/R3 1.73 (ISag100-Sag80[+/Sag80-Sag60[)/CT4 0.16

£2/£3 -1.12

[0126] SEARABHEBLUERSABEN L REWIEMH U
(REAZE AR EEREE  EIREAZHOE
MEERN > EFEENEESHEEEN  HEARNFHAYRKRE
HEEHRERMNOFFENEBFRAEER % -

[ #FaRaERH ]

[0127]

S - 100~ 200~ 300~ 400~ 500~ 600~ 700 ~ 800~ 900
e R ¢ 901
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B—EH

910

Yl -
BHKXE -

912

B_EHR

920

PRl &mE

921

BEXRHE :

922

E=FH

930

R FR®@ -

931

BAlR®E

932

M E

940

R BT

941

BAEXHE -

942

110~ 210~ 310~ 410 »~

102 9 A6 85447

510~ 610~ 710 ~ 810 -~

111~ 211~311~411~511~611~ 711~ 811~ 911

112 -~

120 -

121 -~

122 »

130 »

131 »

132 »

140 ~

141 -

142 -

212 »~

220 -

221 »

222 »

230 »

231 »

232 »

240 -~

241 -~

242 -

ot m : 150~ 250 -

312 ~

320 -~

321 »

322 »~

330 »

331 »~

332 »

340 -

341 -~

342 -~

412 -~

420 -~

421 »~

422

430 -

431 »~

432

440

441

442

512~ 612~ 712~ 812~
520 ~ 620 ~ 720 ~ 820 -
521 ~ 621 ~ 721 ~ 821 ~
522 ~ 622 ~ 722 ~ 822 »~
530 ~ 630 ~ 730 ~ 830 -~
531 »~ 631f 731 ~ 831 -
532 ~ 632 ~ 732 ~ 832

540 ~ 640 ~ 740 ~ 840 -~

541 ~ 641 -~ 741 ~ 841 -

542 ~ 642 -~ 742 - 842 -

350~ 450~ 550~ 650~ 750 ~ 850~ 950
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102 £9 A58 E#%#aR

ST TERTESE A 1 160260 360~ 460~ 560~ 660 ~ 760 -
860 « 960
T T REI T 170270370470~ 570 670~ 770~ 870 -
970

FBRENRME R HARER

wBENRAMEFHEABNXEE

HFOV: G HNAMEFHA P REARKRAN —F
T12 : 58— E R B 5% — 3% 8 RO 8 & A9 RS fE 25 B

i

@ 12 m-FEmE=EERN L L TEER

T34 @ %5 = % % 155 DU 3B 8 50 ¢ & b 1Y R R BE B
R1: 25— 3% 40 % E 8 ik 4 %
R2: E—ZHBHREHHERPK
R3 5 =35 8 10 0 5 [ 89 i % 4 A
R4 1 55 = 35 5 1% (0 5 T 19 i 38 4 (%
f£2: B - BEWEE

X

f3: 85=FFEWEHE
@ f4: BNBEHEWNERE
SD41 : FEUEEWHREIGARAERNFREMNE H LN FE

3

[ENER:
SD32: E=ZZRBUREDHNEARTRAFEMUE L E
[ENER:

FOV: Z@ENAREFENE XK S
TL : 58 —Z R Y0 & | X B & m ROt 8 £ A9 #E B
Sagl00: FENZEFEYAREENH LN REEENERY
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102 9 A58 E4447

B 5= | B & KB R4 € AL E 5L ¢ 8 Ry Kk 2~ 2 5 BE B
Sag80: FNERYAREANCH LHREEENERY M
KREEARKBRFE 80%BY L E KOG # /Y 7K I L % 35 B
Sag60: BN ERYARBEENH ENREELENEZ YA
RERKEBFE 0% AL E K OE 8 89 7K F L% B8 B
CT4: FENZEZFR LB ENEE
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1477805 u_
o4 | B 5 BFTERER:

;B_

EEHFH—r*U g2
—BEGENEARHAFE BYAZGAKFES
—ZH BRFEEREFH HYRIXRETZCHEHE SO
HG HgHAXREBOAXHESOE
— B _FZH BHEAEEWSH EYAEREEIXEHERM
H> HEAXREOCHERSDHE
—B=ZFZH BREAEENH EYAREEEXCHERM
HGHEgAREOXHEHESOE @ MUK
—EBWNEH  BERENN  EYHREOXH#HERD
® HHGAREBOAXHESMNE EGAXREHUGEERE
Y—1MH BHYHAXREREGAEREEZR/IERET
HPZEeGENARERFEFERET TN ERRE N
FoZE—EZHGARENHELRE R2 ZE_ZEHY
BIXEAOERPER R3 FZE—FHFELE ZF 5 NOCH
FHHERERS TI2  ZE _EHEZE=FHNLtEH L1y
MRS T23 - ZXE=FZHUAZBWERNCH LR
PERES T34 HWE T &G
® 1.9 <R2/R3: UK
2.1 < T12/(T23+T34) < 3.3
2. WIEHKIE | T GENARERBE > HFEE
TEBWEES N BE=ZZFZHENEES 3 EmwmE T
& 15
f2/f3 < -0.72 »
3. WIEFKIE | M GENRARERE > HP&E
GENEAREFEANERBEAS FOV HimEd T &G :
80 & < FOV <105 ¥ -

l




1477805 104 4 1 B 5 BEFRRE

4. MITERE | I EEENARELHE KPS
BN FeEES CT4 X E VUE &1 6 & H 75 &
LR E R ENEHVAERTENRAERERMBER N
S K (S I B Sagl00 0 3% %5 UUSE 854 B 5 T 7 O 8
LR UEHENEEYAEEREAERER 0% B
FASEERE K R AL BE B S Sag80 0 B VUSE Y (R TE
MM TUELENEHEYAETERAERELR 60%H
BRNEEO KT BIERS Sag60 » H 2 T I & HF

(]Sag100-Sag80|+|Sag80-Sag60|)/CT4 < 0.20 -

® S, MEERIE | IO EEENAKESE KPS
CEBYAEENHELES R RE _EHGHRESY
RS R H R T AR

1.4 < R4/R3 <3.0-

6. MIFHERIE | FAWEERNAKEAE  Hdhoy
EEDNAKBFEANEES (> SENEENEES 40 &

2T 5
-0.50 < f/f4 < 0.50 -
® 7MERIE | AN EGANAKENE  EhEE

—EEVAREBE—KEENLEH LAERES TL ZE£B
ERARBEAEATRARAN —FL B HFOV: HEE T I 1&
f#

1.5 mm < TL/Tan(HFOV) < 2.5 mm o

8. MMFHKIE | TN EBENARFERE » HFXE
MEHAEFEARTA -

9. WMEEKRIE 8 Frall ML GIEMNAMERME > HPHE
—EEGHAREMNEARERFRUEHECHNEEREES

2
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1044 1 A 5 BIEERRE

SD32 2% 5 MU Y B % T 00 R A H A 4 S K B B O 8 6
SEE IS SD41 - H R T

1.35 < SD41/SD32 < 1.80 »

0. MEKIE 8 Fk M B EBIMARKES - PP
BRI AREHE ANEER [ NS UEHOEES (4 &
Wi TG

-0.5 < f/fa < Q-

1. AERIE 10 FRMEERIARERE  EPH
 EHVEAEYEELES R BHE—SHEHRE

@ uzemmr HBETIGEM:

0.6 < (RI+R2)/(R1-R2) < 0.6 o

12, MEERIE 10 M TR AR E KPR
BoBHNEES 2 UESEHOEES O HBET
51 166 4

-3.0 < f2/f3 < -1.0 -

—EMEEE  BE
MEROE | KR TR RSN MR
® BT BB REN R TR G —
EE -

4, —BEERDARGESE Y E & e
=2

o BETRF D EW AR E SO
Bl E LSO E

momm BEAEN Y EWE RGO E S
E o H e (5 T BRSO E

s AETRAD - HWA R E kRS

3
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104 8 1 A 5 HIEIEZRE

o ( E T S E LR
_BNEE . RARTN - WA R T EE SO
B HEEEEEMESNE e EERGEaE T
ME > BEMEEEREMREEBIERE
HE B M ERANAGEF AR ERR DB EE D
FoogE-EHGEHEANSELSE R HESEEY
BREOHELEE R ME — SHANE - BHN L
LHERERS T2 RS S SHERESEAR R E®
AR S T23 BB S AU EE IS SR L E M
Q@ vus o HE-SENEES R UESERNEES
3R T
1.8 < R2/R3;
1.9 < T12/(T23+T34) <3.3: D&
f2/f3 < -0.80 »
IS, MEEKIE 14 FLE MG RIA KL L
B EEMEEES - REARKE LHEES TL %Y
(B IR A A AR AR A — 48 HFOV » 5 B T 51
@ i

1.5 mm < TL/Tan(HFOV) < 2.5 mm o

16. TNEERKIE 14 Fri B ENAKFE A H > H P
FRRINAFKSERENEES > ENEHVEERS 4
HER T &S :

0.5 < f/f4 <0 -

17. Z0EESKIA 14 AT GENARFEFHE > X
BEZZHRGHARENREARAERFRAE LA EEEBE
B SD32 ZENEHYARENE R ERNFEALE HE Y H
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1477805 104 4 | B 5 B TBHEE

MEBEREHES SD41 - W E TIHEHEF -

1.35 < SD41/SD32 < 1.80 -

18. ZOEHKIE 14 FRal MR GENAMEFME - HPEX
F_ERYAREOBERFES R ZB_ZEZHEGARE
MEERFERE R4 HimE TIEMAF -

1.4 <R4/R3 <3.0-

19. ZNEEKIE 14 Fril W GENAME A E > H P
TEHRENARMRERFENEARBE AR FOV EWmE T I HEHF -

80 FF < FOV <105 & -

o 20. ZOEHORIA 14 AR EBENAMEAFHE >
ENNEHN LB LOEES CT4 ZENEHEYHIRE EN
HEMNXMBEZBFUEEYARENEREBERFEULER
R KL R Sagl00 > 5% 28 VU 3E 8R4 A R | 7£ )¢
HEMREEZFNERDARARERERFE 0%
BRI KT EIERS Sag80 XENEHYHREE
N ENREEZEFLNEREDAREBRERERFE 60%8
MUENRXCEHKFABIERRS Sago0 > HWE TIEHF

‘ (|Sag100-Sag80|+|Sag80-Sag60|)/CT4 < 0.20 -
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